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=¢ PHTE Oddition” Subtraction with ntegers o e cormidse Subtracton the orcer as to stay the Same. oyl wrtten methods
- 2 (w) 360 — 147 = 360 — 100 — 40 — 7 H| 1|0 H T|O
What do | need to be able to do? o T il 'Y e o 'Y Iy a 2|7
~ ...."' .. .. "'.... »  Number nes el for addition and +|5]4af2 —l24a|9
By the end of this unit you should be able to: Modeling methods for addition/ subtraction subtraction
- Understand properties of addition.” subtraction *  Bar modek 6 N 3 =3 + p . Wc-‘k'ng in 10’ ﬂrst gids mertal —_—
- Use mental strategies for addition./subtraction e Number knes addition/ subtracti Remember the place. valle of each cobmn
- Use formal methods of addition/Subtraction for inteoers N fion/" sublraction v d 0 to the
- Use formal methods of addition/Subtraction for decimats |*  Part/ Whoke diggrams The order of addtion does ot *  Show your relationships b:; writing ou may need to move 10 ones to the ores
- Solve. problems in context of perimeter ckmge. the. resut fact fomiles comn {o be able To subtract
- Solve problems with finarce, tables and timetables
- Solve problems with frequerncy trees
- Solve. problems with bar charts and line charts X X . i . .
Oddition/ Subtraction with decimals . . .. | Solve probems with perimeter
& AREI Otga{nl[ Zzn;)?ed | " E . Perimeter is the lenath around the outside of a polyson
[ Yy .
Commutative: changing the. order of the. operations does not change the resut Find the length of x
Ossociative: when uou add or multiph you can do S0 regardess of how the rumbers are, grouped f . represents |instead of 100 ‘\
Inverse: the operation that indoes what was done by the previous operation (The opposte operation) The decimal place. acts as the st Fraction — Decind kosceles Bom + &m + xcem = 2em
Placehoker: i romber that occupes a position to gve vae plocehokder and dligns the other vales 5 o eqijt: akzr; . “ xcm Triande lecm + xcm :‘20‘3:
Peeter 1 cin/ brih rod . 2D g Sa5. 08 rlaton o -
Polygon: a JD shape made. with straignt Ines
Baarce: in firarcial questions — the. amownt of money in a bark account S :
_ . olve problems with finance |
gﬁ? Wmtigtm[ges nt[;;fm oﬁ?nt Pl’ Tables and timetables Bus/ Train timetables Each colimn represents a jourmey, each
i Profit= come - Costs Dstrce o aron | 1005 | 1045 | o | | rot epreers e he s’ s
B nd ﬁne, chartg ~ Bridge | 1024 | 1106 | 1147
ar a - L London Avile | 1051 | M33 | 1205 _
R Use addition” sublraction methods to Creait — Morey coming into an account 1 o o) | TIVE COLCUOLTIONS — e e e
- extract information from bar charts
. :; ] b ) 493 Glasgow
EZ N i eq Difference between the number of pebt MOYEH bﬂum on gccont 4o =z L | Belfest o s
£9 | students who waked and took the bus ) H T Where rows and cobmrs intersect i the.
i | Wk frequency — bus frequency Money uses a two decimal place. system Thi shows the dstonce between i C 4 cooe of ot ot
Cor T wose | ] s | oo 142 on a cakulator represents £ 1420 Glasgow and London T
) It is where their row and column intersects
When describing changes or making predictions. ) .
= Extract information from your data source Check the units of currency — work in the same
*  Mdke comparisons of difference or sum of vales unit
«  Put into the context of the scenario
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Year 7 Spring 1 Ftinf GO 1, st 0 Frequency trees
Find L £205 ‘ : 00 peaple visited the 200 one Saturday
What do | need to be able to do? ; wos‘/ bw D ﬁ N morming
’ ! ‘ Yse Der odef or comparons 26 of them were aduts. 13 of the adull's
Bg the. | of this unit Yyou st d be. able. to: CE T o [ [ T i o 90-30 favourite animal was an elephant. 24 of

- 4 3 the chidren's favourite. animal was an
Find a fraction of a given amount

2 elephart.
= Use a gven fraction to find the whole or other ;010;520.&0%@ £200+ 5+ ¢4l A The overall totd
. X = I3 ’

fractions ] | - Fich i of e b ol s 41 lan=24p 60 peopk
- Find the percentage of an amount using mental : - Probabities or statements can

methods 0 frequency tree s mace up from par-hok modek 5 4an from the complted
- Find the Perce/ntage of a glven amount using a Find the percentage of an amount (CabUhtOf met"Dd'S} One piece. of information kads to another trees

calulator Using o moltiper £9 34 chidren vsted the zoo

hg!wa(dg Find 65/ of 80 Fraction, declrrnl. percentage. conversion

65/ Too -4— The. multiplier F|m tm Percentoﬂe Of m amt (Mental metM)

0.65 x 80 = 52

Feacfion: o mary pars of i whok ve e The. whole r?presents 007 oL
Eauicert:of ey e Using the percent button Ths brangs up the * button on screen | ‘ 1
\hol: o unber i o ol or ecind ot End 657 of 50 Yoo vl see €57
Pescentage: pats ver 100 (s the / o] Type G5 | / e e .’ , — — s
) i ) . . Press ( D/o) or methods and 0% 20% A0%, b0% 80% 100%
Phce Vake:te ek of . ceperdig on s pce i nomber. o el rure gt each phie & Press (32) 50 and then press — 0 17 o 167 ren o
. . percentaoes lose
0 e biger thn e e Lo 1 g o - ] 07 =2 o the o 507 = 5+ 1o the ok
Conve: charge ko on eqnent representaton often frcfon o ecinal o 6 percentage cupk of can represent X in cokvitor methods
7 . 2 1 . 1
Use a fraction of amount The vordng o the queston & important o settng up the bar mocel | | | 207 =5 -G ofthentok 5/ =5 of tre whok
= of a vae § 70 Whal s the whoe number? 70+ 2-35 63
)
\‘70 «—  FEachport of the bar ’ ‘ Frdthe whok | Find 657 of 80 s
model represents 35 3 of a number s 63 Al 21| al| &l 57 = 107 x 6+ 57
: 4 | A 8 -(8x6)+ 4
| 3 \ 35 \ 33 | ' r 1 - 52
84 Use the
t ) Wht rs — of the anberP Method 2
- g=|05 L . wmbio 8|86 |8|8|8|8|8[8]|68 657 =507 + 107 + 57
mHhOLI‘UI'I‘WiS 05 =14 ‘[4“4 ‘|4 ‘[4 ‘l":l-u' {mpifum Flgfot;ggerpmentmitBmtimseawtotdwmmfmm :;‘2*8*4



